WATCH THE VIDEO AND ANSWER THE QUESTIONS:

. Why isn't it probable that you can see a
fox?

a) because there aren’t many

b) because they are shy

¢) because they only go out at night

. Why isn't it probable that you can see
an owl?

a) because they only hunt at night

b) because they are shy

c) because they only go out if they

need to hunt

. Where can you see frogs and toads?
a) near lakes
b) near rivers and ponds

c) near lakes and rivers

. Badgers are .....
a) larger than mice
b) similar to mice

c) more dangerous than mice

. Another example of a shy animal is....
a) the badger
b) the otter

c) the deer

. Otters eat...

a) fish
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b) fish and mice

c) they are herbivore

. Adders are....

a) poisonous and dangerous
b) poisonous but won't usually hurt you

¢) poisonous and aggressive

. Why are experts worried about

hedgehogs?

a) because they are dangerous

b) because they are in danger of
extinction

c) because they are invasive

. What's the correct sentence?

a) Red squirrels were taken to the UK
150 years ago

b) Grey squirrels come from Australia

¢) Red squirrels are not as strong as

grey squirrels

10.Why is the British Wildlife Center

helping the red squirrels?

a) Because they are affected by
human intervention

b) Because they are threatened by
grey squirrels

c¢) Because they are more vulnerable

to pollution



